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Выполни действие

          64018 - 1978 =
  А. 52140
                  Б. 62040
                                В. 63040



Выполни действие

         24928 + 37945 =
  А. 52873
                   Б. 61873
                                В. 62873



Выполни действие

            2346 х 34 =
  А. 68764
                  Б. 78764
                                В. 79764



Выполни действие

            51085 : 5 =
  А. 10217
                  Б. 1217
                               В. 10341



Реши уравнение
      2050 + х =8349

  А. 5849
                Б. 6299
                              В. 8099



Реши уравнение
 

       х - 120 = 4725
  А. 4605
                Б. 4745
                              В. 4845



Реши уравнение
 

        а х 5 = 1540
  А. 380
                Б. 3080
                                В. 308



Сравни
 

3682 х 6 … 22000 + 93
    А. >
                  Б. <
                                В. =



Сравни
 

15325 : 5 … 4000 - 35 
    А. >
                  Б. <
                                В. =



Найди число
 

        : 7 = 1976 (ост.4)
  А. 13832
                Б. 13836
                            В. 13236



Проверь
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Интернет ресурсы
Ученица:http://open.az/uploads/posts/2008-03/thumbs/1205947523_11885263680.jpg
Незнайка:http://im8-tub.yandex.net/i?id=30947908&tov=8
       http://im0-tub.yandex.net/i?id=64256370&tov=0
Пятёрка:http://im7-tub.yandex.net/i?id=100947568&tov=7


